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問 題 配 点
正 答

大問 小問 小問 大問

－１１ ４点(１)

(２) ４点１．０８ a 円

x
(３) ４点－

１０

(４) ５点－２

(例)（過程）

＋ ＝５ …①x y

２ －３ ＝５ …②x y

①×２－②より，

５点

１
５ ＝５y

＝１
(５)

y
＝１を①に代入すると，y
＋１＝５x

＝４x

４ １答 ，x y＝ ＝

(６) ５点３ ３

－４，３ ５点(７) x ＝

３７１
(８) ５点

点１２

辺ＡＥ，辺ＤＨ
４点(１)

辺ＥＦ，辺ＨＧ

(２) ４点ウ

(３) ７０ ４点°

４ ４点（ ） a＝－２

２ (５) ９６π ４点cm２

（例）

(６) ５点

２５
点

Ａ

Ｂ Ｃ

問 題 配 点
正 答

大問 小問 小問 大問

４点（ ）１ エ

３０ ４点ⓑ

３
１

２ ４点（ ） ⓒ
１２５

１６１００ ４点ⓓ
点

（例）［証明］
△ＢＮＭと△ＢＡＣにおいて
仮定より，
∠ＢＭＮ＝∠ＢＣＡ …①
共通な角だから，(１) ５点

４ ∠ＮＢＭ＝∠ＡＢＣ …②
①，②より，２組の角がそ
れぞれ等しいから，
△ＢＮＭ∽△ＢＡＣ

１０５
５点

点
(２) 倍

９

１ ５ ４点（ ） 番目

２ （４ ＋４） ４点５ （ ） n 個

１２３ ９ ４点（ ） 番目
点

合 計 １００点


